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Calculs

Ton
résultat

Plus vite que
la calculette ?
(O ouN)

Correction
(v~ ou bonne
réponse)

Moitié de 214

Triple de 187

0,75+21=

6- 0,25 =

05+7?=1

690 + ? = 1000

(3x12)+18=

T({Q|lm|m|{O|la|lm|»>»

72 x 400 =

—_—

45x 11 =

J

510:10 =
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A Moitié de 214 A Moitié de 214

B Triple de 187 B Triple de 187

C 0,75+21 = C 0,75+21 =

D 6-0,25 = D 6-0,25 =

E 05+?7=1 E 05+?2=1

F 690 + ? = 1000 F 690 + ? = 1000

G (3x12)+18= G (3x12)+18=

H 72 x 400 = H 72 x 400 =

I 45x 11 = I 45x 11 =

J 510:10 = J 510:10 =
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